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Q.No: 1 1T Bixwell & Haf F $H-W1 4 I §2

A WS- % AT 7 s 3 srien e sl o1 39 o R
B e ® e g, ‘RiET SIe ) @ 99 2 T

C T Faq T, e, Te T, Rk SRe wH S @ W §

D U & TR PRI IR f<T: e §1

Correct Ans : D

Subject : Hindi Bhasha 01

Q-No: 2 Trewaaf-wemH fFarg S i, Harg, s, o, ae-faarg of...... # weEw g
A T IR Wifee P T

B Y SR 47 B g9 T

C HfF 3 Wiy B

D RieF & PR-HR B 9 H

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 3 TeT Siedl H&T § o= U UeKdt &1 Pfden § v F aR & Fradia S0 W o9 9% 9 910 & Ui 994 /7 31 wae 4
A e & T & uRafa s areht wfy fafy SR a1 siferd e &1

B SHfaar B T, A0 TR R ¥ G e

c Ffadr & adieR, T W ¥ g fean sy

D Hida o1 T Bl @, orf 78 & wwmar

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 4 AW UIS &1 Uga g¢ “Sla’ &1 ol ugl 98 39 oIk Udba v § -
A I &R B} ugar & w8 o 3

B T I TS SN T g SIS B

[ AT & ¥ 7E uedht

D Tg 31ER TgaH @1 9o of P Wil 5T Ug <& B

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 5 *eT Rigfor &7 F1 -+ v wiiea sl @ Fmfor s 98 w9 fewe §2

A fraifs
B W O
c o4

D e arer

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 6 foelt e fad & el ST Al T 1 P! 82

A AFHIST
B TIGHIST

c BEENLARY NG |
D SR 1T

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 7 7 # Q ogagR A Uil B 31 U ulehar wiF-ah §2
A TS
B kez
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C ATTHTST

D Eibp

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 8 Fwfida # & R [y & s

A TRk I T @t iR SR B
B fafky & RRE o ok sERR Far
c T & RRE o oi] sreR S 21
D AR & TR @1 SR SRR S 3

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 9 A= & A 5org Al & A fram 2

A =
B G
C LIt
D Q

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 10 =T & & ga Rigor & Rrerast ot s fsaht 2t @2
A Ruesepl &1 31uTg g 1

B aa T R B B

c R wd RifgwT 1 € 50-50 FA T

D T & AfiE B R

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 11 4T WY & Tgef 7 HF-T1 e et &2

A RV BT JH UG- Y G BT THHH YRR TS )
B T HINT & TAFT R S 9 41 =IiTl

c T H u1T WG & S & B €

D TS ST TS e 7 1 Wua 71

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 12 Ied WU TR W Hol o1 $ g Iuanl gt gnft?

A Rosit o
B R BT
c [EEEally
D g Tl

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 13y fawrg 1 fecda ==vr g & S @ @2

A S
B ug
C o
D kgl

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 14 @ | fafd’ grr?

A A H TG TR AT SeEl B U W e o g1
B SR F gTa-HTa R S 31

C SR} BT RG] Il g1

D e B Ry o &

Correct Ans : A
Subject : Hindi Bhasha 01
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Q.No: 15 BT B JTARTHS 1801 W H3 3t Fard g fafd g2

A Udd B & A Gaeht ST o1 feTa ¥ R ST R I9 ¥ B
B BEI & Siftrm T G vd FwenRal 1 e s
C BT 3 afckmrd faftrarst & SR TR S A wgg! § fauf oxe Se fag Rigor 3t arawi s

D BRI 1 BT R BT

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

=T TN B UGN Y T URAl & FaY IR IR A1 fadbed B 99 Bifore-
et &1 e

3R a8 WEdl BIT JA B

TP &I §HRI |
i o i

A et R wer-+f faoreht
P I TR IR T g
7 T Afey TR T Tt |

I P fd srpfea iR srafer
o 57 W T o |

A $F 3R TRt B A

THR e g ol W e o |
FETAH YT PHedrd

R FHA T foran |

i <t oar- R

= R wieft, A fR-F1a uelt,

7 gHd el |

71 fF 3 & I A

ol 7 g iR et e 2

Q.No: 16 7 & 4 Sudfa ufekrll & IRaan 1 A1 Tage-
A T g gt

B 5
C e R ferax
D A AT SUART

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

P& FTea P TgHR IS T U F Fed IR IR ) fAdbeq &1 79 Ffere-
s &1 fe femr

3R 98 Wedl BT JAL Bl

T &0 GART |

o it s e fan

R et R eH-4h forett
Tt P I R IR T o

T 3 Afex TR T =R |

&t B wfd srpferd R s
R R TE |

A $o R Bl T A

TAR e §U Ry W e e |
FUTAH 0 Hedid

GERT EHA 7 o |

4t < sra-Rrar
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7 53 e, 7 fRR-oprer e,
T 5 e |

1 {5 3o B Ia1 a4
7l A gaw e 7 faan 2

Q.No: 17 R & S1F-31 T wed1 &1 wafgard Teg 87

A SHEI
B S GE
C e
D ST

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

= P H1 ugaR g TE U S T IFd Iak a1 [wed o1 99T Bifere-
i 1 i foemr

3R 98 HeH BT JA B

T &0 BHRT |
i i et e

! Rifos R werl- Rt

I B S TR IR A o
7 3 AR R Ht et |

& B TR srepfera o srnfea
R e R R BT |

A B IR Tl I A

BAR 2 g Rt W e o |
FUIaH U Hedrd

TR T T o |

& <Naat sra-Rear

7 fisx e, 7 -1t e,

7 T el |

1 b ST B I

T g R e fo 2

Q.No: 18 FAfafya & & sRiTa/a8d Weg BT 999 Difod-

A s
B ST
c ag
D Loe)

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:
FEY: PIORT 1 UgaR T T U F T IRT SR a1 fdded BT 997 -
o w1 el fom
3R 9§ AeHl BT a1 Bl
T &0 GHRT |
o i o e e
i fifee R e faereht
Rt B I TR MR T o
7 3 Afex TR Ff =t |
& B A srpfeda iR s
R R TR |
J91 5o IR Tl FT@ A
TAR e g Rieml w7 o |
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TYAGH WU SHedrd
R T T o |

e i sra-Rman

7 R e, 7 -1t e,
7 T el |

1 f 3 B Ia
7 3 gaw o =i R 2

Q.No: 19 3= & 3 farfost ®1 ord @ &2

A i foreft o1 iR BRaT
B FE g8 91 B TR-IR FET
C i fits & SFHaT &

D T8 I T gt SR S v faa 4a /1

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

=1 T B UG g TN Ul & Fa IR0 IR a0 faded o1 9ue wifre-
g 1 fsi e

3R 98 TeHl BIY A B

T 401 GHRT |

o i e e fan

R fAfost R werl-af ot

R IS I TR IR T o
7 & A TR F =t |

¥ B T srferd oIk srnfa
R RTEBE |
7o AR TR I A

BAR e g RIoml W e R |
FUFAH G0 Hedrd

R B T forn |

A} e sHa-Rrar

7 iR e, 7 -1t e,

7 58 Gl |

1 & 30 & Ia

ot A e e 7 fo 2

Q.No: 20 ffefad & & fara <reg &1 i Swdaa ufdkdl @ e fosan man @2
A Gl

B friifsr
C @
D Siffea

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

P oI 1 UgaR g TC Ul & T4 IFd IR a1 e 1 79 -
St o1 fof frmn

3R 95 TGl BIE FAE BT

T &1 GERT |

g R e R

A e o werl-+f R

Rt T I TR SR T o

7 & AR FaR ot =t |
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P iR srpfea SR s
R WA BE |

I TS IR Tl I A

BAR e g Rraml W e R |
FUTAH 0T PHedrd

R T T o |

& et era-fRrar

7 bz e, 7 -1t e,

7 g el )

1 5 3R P Ia

BT 9 gar R el R 2

Q.No: 21 fyARIfEd & I $1F-W1 ez Tgali T P T IR §?
A g

B R-TRE
c diatsR
D icain

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

P PToa 1 TR g T U & FaY Id IR a [aded 1 99 Sifere-
EISEaRECEREZIN

3R 75 e BIC JAI B

T 401 GART |

& i e 8T R

& Rifos R Fee-t ferereht

R B I TR MR T o
7 & Afr TR i TR |

N P Afd sfera iR st
R 8 R A o |

I T IR T I A

BHR T g i wR 7 e |
FETaH G SHedi

R T T o |

4t <haet ofTa-Rrar

7 R Selt, 7 RR-@re e,

7 gHd el |

1 & 307 B I I

7l 7 g o = fa 2

Q.No: 22 fyfifEa & & wicra’ 1 fadiy weg @@ 82

A GuiER
B FE

c SHferd
D g

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

P& 1 T 7T TR 9 ggaR g TC URAl & e 3fd IR a1d faded &1 997 Sif-

R e F e &1 o Rl & ) el 4 T us ¥ R, Fe e e, HE S O $el e 8 R AR B

Sl B U8 UF SHHT AT FIE T L, W I5UTY & IR 11 Y YROT R Gl 2| TSI (U] PIg MFR e, W 3RIST PR g0l R THdl g1 TP B AE T8, W IART F Il § o 3951 HiaR
R @ T I 31 MAEH & W A T W <l A YR Il 7 AR I W SR SHUR FHofl BT Wil & I §1 S L T B G0 51 AHIGRYT 8 91 8, A S FU &I $@IHR Hgwi|
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Siia & auf & ¥ H ReF a9 B AT § A [AARIGRT 916 31 FY 4R 6% od- avsd i 35 g1 sefi|, 8 98 urh

S urt &1 3F IR G Wi § A ORI au1 F T IuDt SR fTar e o 31 Faw sl 7€ o 95 guRY ok AR ol @1 Wi gt 7, afer gufin oft i a5 gkt e &t off gw Xl 31 S @
Yy B § - TR FT 57 Tl 31 TR 3 et v Sl 1 o A B PR gen 81 R WP T B 37 81 R U 9 § - A 7 2, fH Sy far §1 519 1w A A, i a@ o e 9
T BT ASM 3, YT Sl B gg1 Sya I 41| 5t +@w 1 99 wqx 3 fowmed ofR T-aq1 & feF & 9aa i, giaife 398 Sds! a¥ @il 1m ¥, e ) Td 7 iR fewem 3 Reied - gagst )/A

Q.No: 23 R a1 & e &1 url g T TR 2

A gl
B GIG)

o Tt
D Rt

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:
= Y faw Y iR A e U TN URA & Fa9 3R IR a1 faded &1 9ue Fifvie-
R e # 7Frier &1 gt Rl ) T STeT yu e US W €, 961 Pel e, $g] a9 o Pel 6% ol G M B

IS § UE U | DT ST IS T AT, W U F TAK T B YRV B THAT ¢ | TADT AT I3 HHR g, T SRS AHR TgU TR GOl 3| DI DIg ATl Fel, TR I J I3 8 af SHPT HIaR
TR T A IaaT g1 T § TR TREH F9 R i T 4RO R R SR I AR SR SR oAl B W S S §1 I WG T B W@ §F HAERIT B 9 2, 1 3T FU B 3G HAGHIT |
Sfta & a9f & wU § RSH T IR 31T § Al fFIRBR 91 BT U YR HX 9d- avsd f 9ar 31 feiid, § a8 grl

TS gt 31 97 3R Y ia § A goRT anl § TS ISt SR far e om 31 Faw gufe e b g suR oik gER Adi @ W g 7, sfcw gufin ot i a8 ARt e &t o g ol 81 9D
e gl § - TPl 1 o0 T 1 IR 1 Wt g SRphoddt T o Al ) Hr ¥ gen 71 URA WG T F & B1 W P 91 § - I8 W 7, Al S elan 1 o i i o, far o oft o ot @
TG &1 WM 7, Yo ofid H 98T Iya qgg Tl fdt Yo 3 39 9 &) fearer ofR -0 & Aa § 9ed STa, gt S9H el ay el T §, THer Qe Td ¥ ofR e § faerad - wagst @A

Q.No: 24 TEH P ER HRANY Tpla fpaad 27 8 2

A T B
B TSt
C TS it B
D T Bt

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
= A3 faw Y TR B UeeR U TN Ul & Ta9 3R IR a1d faded 31 9ae Sifere-
MR e & et &1 ar Rigdl €1 T et yu eT US W 7, 961 Pel e, $] 47N o) bol 6% ol X M B

3o § T8 U1 SUET 3T IS 1 T, W SEUY & YA T $I UROT IR Ghal g1 STBT AT Bl SMHR eI, W IR MR TgU FR bl ¢ TSI B3 MGl T, TR I § gl § dl BT HiIR
R P e JadT 31 MAEH § R AA 7 R fie A 4RO a1 ¥ SR I WK SR YR Sl BT Wil & G 81 IS W T FI GWHR gH LFIERYT § I 8, A ST T ) @ISR DI
Sffa ® auf & wU H RSH I TR M1l § dl [FGR §1g BT T YR X od- dIvsd +f Fdr 31 3fefid, § a8 aril

TS ot &7 98 SR G Wi & T TR aul F 7w SuS ofR eTdr 9o o1 ¥ FHaw Ui TE 6 98 guR SR gk A Y vy g 8, afcs Sufi o 5 ag s orem &1 oft 9 el 1 3WE W
i el § - TPl 1 o BT 1 TR 1 W T Tl T S AR Y i | o 1 HRAT IR T A 3 ¥1 R TP 91 © - 48 W 2, A1 Sy elen 31 o i A o, nfer o oft oy o
AT $T HEH 7, G ocid & T Juen 9% ol f5dt 4P 3 39 9 &1 feurerd ok i-ag & fem & 9ga g1, S1aifs 39 S3Sr aY ot T &, FHa R A § ok R § et - Sagst @A

Q.No: 25 ¥ grft &7 4 iR g Wia 7L © -

A T
B T
c ey
D agr

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

= D fa T TR B ugaR g e U & wed IRd IR a1 fiwed o1 797 Fifere-
AR e # e @1 arR Rl 8 T et o e U ¥ 8, Jel el e, B ST o B w0 B WA B

Sl & U8 UF SHHT AT B T L, W IR F TR T ) YRUT H qhall 3| TABT (G IS PR T, W RIS PR g0l FR Thal ¢ 3P| B Al e, W I F Il § o 3901 Wi
X AP e IadT 31 TAGH & W RHAA 8 R <fig P 4RO a1 AR I R 3R SUR GHroll BT Tl S T 31 S A T B SR 8H LFIGRYT 8 91 8, A 97 T B SWHR HATHid|
g & 99 & T F ReM 91 R {1 § A FARGR! 91g F1 T 4RU FX od- dved off 39 81 offie, § a8 g

S ot &7 9y SR g W ? T TOR aul § 77w SE ofR e Ion o ¥1 S suikie e o 98 gERt SR s Adl 3 v gamd €, afer sufie o i 9w s eem @1 oft 9w w81 3 W
R Bell € - TRPlA 1 I B 1 TR B W T epfadt B o Al Y BRa | o 31 HRAT I T 3 ¥ W TP 914 © - IF W R, A1 SAF Telen 31 o i A off, ofey 7@ oft o) o §
T BT AGH §, YT Sl B 981 SUe 95 U1l et 1@ 37 39 Wz 31 fewmed ofR T-am  feF | 9aa ST, SIife s Saiet 9y @il I ¥, et R A | SR e & Reied - gagst A

Q.No: 26 "grEm” ¥ i § -
A g e T T arer

—_—— a
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B g TP e drel
c gd e siem g
D ¥gd B Siaq aren

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
e R g g TR B UgeR g TN Al & Iad Ifd IR a faded &1 9ae Siferg-
R e & i 1 o Ryl & T STt 4w e s W@ &, del el e, Bl S <l bl 69 81 G T 8

ISiT § UG UM | ST ST IS T 8T, W SHUY F YA il B YRUT B THal g1 THDT AT HIg HHR g, W SRS AHR TgU TR Yool ¢ 3BT PIg TSl 8T, W TG J Iodl & dl SHPT HiIR
R 0 T I3 31 MG § W AA T R ftg T YR R 7 SR I W SR SUR el BT Wi &9 T 1 SHD ARG T B ST GH AFIERYT 8 91 §, A ST FU BN G@H HAHId|
Wfig & avf & T § RGH & R 01T & A RARIGR! 91 T TY YRV IR oid- aved i 3gar 21 3rfig, € 98 urt

iy art &7 98 9k G Wi € T TR W @ T Iuat SR e e o ¥ aa a5 9% T Sl TR Jdi Y wra g B, sfcr 3afi oft 5 o7 g s ot oft g FRdlt 71 39 R
ferd gt § - WHFA BT o gl 81 TR Bt Qeft Ui WRpfadl o1 90 Al 31 $Ra F goN 81 YRS Iphd 717 3 &7 81 W TS 91d © - 4§ 7 8, Afeb1 Sy Fefer 81 519 71m =1} off, fer aa +ft ot oei @
A HT AGF B, YR Sl B agl Iue I o1l fFd o@md 3 39 wgx & fowmer ofR Tm-age & A | 9w St geife 3 Siel oY @il i ¥, e R T § iR R @ fReied - 9agst A

Q.No: 27 "faHm" %1 fen e 3-

A T
B RIGGICE
c ifergef
D RIGRIG

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
= R g Y TN B UeeR O TN AT & Ia Sfd IR dI faded BT 94 Biferg-
R T 3 e oot o Rl R ) SRt g Y v ¥ 8, 76 el N, T R O el w0 81 R AR B

Iollg § UE UFH| ST AT IS T L, W U F AR T Bl 4RO TR THaAl 1 JHDT AT I3 SHTHR g, W SRR AHR TG0 TR Ghall ¢ 3TD! PIg AT T, W I J IoaT § dl 3TPT HiaR
R T IS IS 31 T § W TAAF g IR it 3T YR Xl § SR I W SR 3R il Bl Wil & Il g1 I W U &1 TSR gH HHERYA g 9Id ¢, dl 3T U Bl SWHR HaThid|
Sia & auf & ¥ § M 79 B AT @ A FAARIGRT 916 31 9 4R 6% wd- davsd o = g1 oefle, § 98 grh

iy art 37 98 IR Y W § A TR 99 § T Iat SR e I o 1 A suit e 6 9% g oIk 3R Bl Y v g B, afcr 3ufie oft 5 a7 g o ot oft g ARt ¥1 39 R
T B § - TRpha &1 O F BT 81 TUR 3 et W Spion 1 o Al B SR gl 81 HRET TRphd T @1 37 1 R TP 91 § - A W R, Al Wy a1 §1 5@ 770 Y A, ofer q@ oft oy o &
AT BT AGH 7, YT 3l B agi Iya 9% o1l 5 H@ 3 39 wgg &) e SR -ag & fH § g S, giife s Sael af @il i §, e R 9 § iR R & fyeriad - gagst wE

Q.No: 28 "R o1 Wf-T 3-

A 7 + s
B R e
c & + 3y
D & + 7y
Correct Ans : A

Subject : Hindi Bhasha 01

Passage:
= Y e e TR B Uge g e Ul & Fed IR IR 9 fwed B 9v -
4R e & e 31 ot Rl S ) SRT yu e ug ) R, o'l el A, wE SR O w5l w1 RO

el B U8 U SHST SO B T T, W SHY & IR 11 Bl YRUN HR Wbl 2| TIDT (G PIg PR g, W RIS AR g0 TR Hall g1 3| B ATl g, TR I F Il 8 ol 9PT HIHR
R P e IJa 21 TIEH & W RAA E9 W fig P 4R IR 7 AR IHG U SR SHUR Frolt BT Wi & I 81 ISP A T H) SR g9 FERIT B 91 8, A ST T I SW@HR 4TI
Wfia & af & T H ReH 91 IR 1T § <l AARIPR! 91 BT T 4R IR oid- arvsd H gar 31 rfle, § 78 urh

TS et &1 98 SR G Wha 3 T TR aul A 7T IED SR T Io o §1 o Ui e 5 98 R SR TR Fdl 3wy gam §, afcr sufie of i 9 g oem &Y oft g St 1 9P
e Bt € - TP 1 O D €1 TR 3 o T SRl 1 o R 3 e  gan B HRA IR T 9 39 B R U 91 € - 48 T R, A SU fer ¥1 9@ T A o, fer qg o o e
AT BT ASH B, YW Sl 7 agi Iya 9 o1l &t 1@ 3 39 wgg &) fomre ofR Tm-ame1 & AgM # 9 1, gieife s Sael af @il 1 ¥, e R T § ok R & fReried - gagst A

Q.No: 29 I "W A §" BT NTAS qrT T gmm?

A o A g

B O g Fhal & 7
c T el g &
D o g § T

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
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= A faw T T B ugaR g e U & Fed IRd IR A fiwed o1 99T Fifere-
IR S A it @ aelt Regel @ a1 e o T s % R, el ol e, ot IR @ el w0 1 @ R

3o § T8 U1 SHST 3T i T g, W I5UTY & TR T $I YRV IR Gl g1 FTBT AT Bl SMHR Tal, W 3T MR TgU FX Gl ¢1 ITD! $Ig MG g, TR /I A Iadl § dl 3BT Hiax
R TP o Joar &1 T § R TREF TR R P 37 4RO R © SR I WK SR SUR Soll BT Wi & Ol €1 3D T Y B W 5 AR 81 S B, o ST T P 3G HAGHIT
Sfiq # auf & T H RH 91 R 31T § dl AR 91 T T 4RV IR oid- avsd Hi Igar 31 srofie, § a8 urt

TS it &1 98 SR g Wia § T TR aul F T IuH IR eTar Ion o1 ¥ Faw Ui T 6 98 guRt SR BTN Al Y vy ganh 8, afc Sufii of i 9 s oem &Y oft g e 71 SWE
e Bl § - TRPfa 1 o BT 1 IR 1 W T Sxphodt T S AREl 3 Bia | gon 31 HRAT IB T ) 3 ¥1 W UP 91 © - A8 7 R, Afb1 SA8 e 31 o i e o, iofer o oft o) ot
AT 1 ASF B, YR ofld B gef Iyan 9 o1l fFrdt Y& 3 39 wgx 9 fored ofR m-age F fiem § 95a St giaife s Sdel a¥ @il 1 9, e R T § ok R & Reied - gage wmE

Q.No: 30 'UgTg' &1 Uafaard! T T8 & -

A PR
B Rk
C Bl
D T

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 31 Which of following number is divisible by 68?

2461549
fofafea § & o1 @ dem 68 d favrsg §2
2184
A
2184
2548
B
2548
8160
c
8160
8040
D
8040

Correct Ans : C

Subject : Mathematics

Q.No: 32 A train was scheduled to reach at 12:15 pm but it was late by 3 hours 15 min. At what time did the train reach?
2461642 13 3 BI QUER 12:15 T UGl U1, A 96 3 9 15 e ot 38 F ugeh 37 frar o ugde

A 14:30 pm
14:30 W&
B 15:30 pm
15:30 3WTE
c 16:30 pm
16:30 3WIg
D 17:30 pm
17:30 W&

Correct Ans : B

Subject : Mathematics

Q.No: 33 The product of the two numbers is 192 and the sum of these two numbers is 28. What is the smaller number?
2467102

< GRSH FT UFGT 192 § 3R 37 & TRl F1 A 28 1 B TEw @ 87

12
A
12
14
B
14
16
c
16
D 18
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 9/46
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18
Correct Ans : A

Subject : Mathematics

Q.No: 34 10 years ago, Ramesh’s father was 4 times older than Ramesh. Ten years hence his age will be twice his son’s age. What is the age of Ramesh (in years)?
2467224

10 99 Ugd, YA & R WY F 4 T S A1 &9 39 915 IYDT oY I9S YA B 3G &1 S SR 0 Y org (It ) @ @

12
A

12

15
B

15

16
C

16

20
D

20

Correct Ans : D

Subject : Mathematics

.No: 35 a_b_ ¢ 3a+4b +5c
2467450 If Pl then find the value of ———.
a_b_c¢ .3a+4b+5sc
= =—=-, A————— % 4H F1q hItQ|
2 3 4 c
19
2
A
19
2
2
B
2
18
2
c
18
2
a4
D
4

Correct Ans : A

Subject : Mathematics

Q.No: 36 The base and height of a triangle are in the ratio 7 : 4. If the area of the triangle is 87.5¢ m?, find

2467523 44 height?
e 97T & 3MTUIR IR S 7 3Ty 7 2 4§11 AfE PHegsT am et 87.5 (2 &, ol swehy Fars
g Hifsre?
14.5 cm
A
14.5 &t
10 cm
B
10 &
C 2.5cm
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/46
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2.5 3t
9.6 cm

9.6 quft

Correct Ans : B

Subject : Mathematics

Q.No: 37 2_ 2
2467753 Ifm=£, find the value of m +n
n 10 m2-n2
2 2
afg M_12 M =N~ oo 9@ Fif
n 10 mz-n2
58
1
A
6
1
6%
1
B
6%
1
78
1
C
78
1
98
1
D
98

Correct Ans : A

Subject : Mathematics

Q.No: 38 /5735 is equal to:

2467934
V5746 P IR %:
239.7
A
239.7
23.97
B
23.97
75.80
C
75.80
758
D
758

Correct Ans : C

Subject : Mathematics

.No: 39 ; :
24608012 i part of the square root of a number is 0.1. The number is:

et e & i o1 S M 0.1 B 1 W= &:
A 0.0009
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/46
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0.0009

0.01
B
0.01
0.00009
C
0.00009
0.81
D
0.81

Correct Ans : D

Subject : Mathematics

Q.No: 40 In the given figure POS is a line, find x.
2468161

20°
A

20°

80°
B

80°

10°
C

10°

100°
D

100°

Correct Ans : A

Subject : Mathematics

Q.No: 41 Ifa=5andb = -5, then find the value of 2(2 + a) + 2(2 + b).
2468367

g a=53R b =-5d 22 + a) + 2(2 + b) BT AH Id B

28
A

28

-28
B

-28

10
C

10

8
D

8

Correct Ans : D
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 12/46
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Subject : Mathematics

Q.No: 42 If 5a + 9 = 29, then 7a - 28 is?

2468418
qf¢ 5a + 9 = 29, dl 7a - 28 8?
positive
A
YATHE
1
B
1
1]
[of
1]
Negative
D
APRTHAD

Correct Ans : C

Subject : Mathematics

34'\1609 6‘:)37 The ratio of 6§ hours to 1 day is:
sgu“zt‘zlﬁwmugm%:
1:2
A
1:2
1:5
B
1:5
5:18
C
5:18
18:5
D
18:5

Correct Ans : C

Subject : Mathematics

Q.No: 44 Ifp=3, find the value of 4p° - 3p> +4p —36.

2469860

G p=3,a 4p* - 3p +4p - 56 B AF A BITT|

40
A

40

43
B

43

37
o]

37

33
D

33

Correct Ans : C

Subject : Mathematics

Whan niv) ic dividad hv av = h than tha ramaindar ic-

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 13/46
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Q.No: 45

2469940
W& p(x) BT ax - b A MG fbar Sar @, 6 Awthet gl 8¢
o(3)
A
o(5)
pa+b)
B
p(a+b)
o(3)
C
o(3)
o(3)
D

Correct Ans : D

Subject : Mathematics

Q.No: 46 The sum of two numbers is 40 and their difference is 4. The ratio of the number is:

2473424

<1 it BT 41T 40 § 3R SHT SR 4 §1 ol WS FT 3[UIG FIR?

21:19
A

21:19

22:9
B

22:9

11:9
c

11:9

11:18
D

11:18

Correct Ans : C

Subject : Mathematics

Q.No: 47 A unit plan should not be:

2475879

TIPS Ao el ST e
A be flexible

el e =fen

provide a variety
B

TP 5o Wem &%
c consist of familiar topics

T S §

D teacher oriented

R I8

Correct Ans : D

Subject : Mathematics

Q.No: 48 Mahesh forgot to bring his book to school and asked Amit to share his book during the lecture saying "You should share your book with me today because I shared my homewc
2479301 yesterday". According to Lawrence Kohlberg's theory of moral development, Mahesh’s statements represent orientation typical at the stage.

TRW U fbaTe Tga A 4@ U SR I ST B HEIH F ERM U TS IS HRA & T Fogl, "IudT U TR oS BRIy Wigh B! AfeT Fif A H SHUAT SARIGT 9SG 11
R Bigae| & Aaw e F Rigid F FaR 7Y & Ty R RE sfifar 1 3 o o1 wfafifia $a )

A law and order; post-conventional

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 14/46
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ST T4 FART; STR-UNINS

exchange; pre-conventional

B

A ;7 uNaRE

being nice; conventional
C

FEES; URURS

obedience; pre-conventional
D

SHRIHIRE; Gd-URuRE
Correct Ans : B

Subject : Mathematics

Q.No: 49 Which two signs should be interchanged to make the given equation correct?

2479409
42+16x4-6+3=28
fow g ileRu Y wEl I & i 6 < Rl Y siuw A aqan o =ifew?
42+ 16 x4-6+3=28
+ and x
A
+ AR x
-and x
B
- 3R x
+and -
€
+ AR -
+ and -
D
+ IR -

Correct Ans : A

Subject : Mathematics

Q.No: 50 Select the correct combination of mathematical signs to replace * signs and to balance the given equation:

2480913 16*aXxg%x4%g
:ﬁ;@ﬁﬁﬁqmﬁmﬁmm#mmmawmmmﬁ
sx-—=

A
X =-=
X =4 =

B
X -+ =
+=+x

C
+=+x
-X+=

D
-x ==

Correct Ans : D

Subject : Mathematics

Q.No: 51 IfL=+,M=-,N=x, P=+,then4N10L42P2M8="7

2480919
offL=+M=-N=x,P=+,M4N10L42P2MB =7
A 53
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 15/46
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53
26

26
24

24
25

25

Correct Ans : A

Subject : Mathematics

Q.No: 52
2481846

D

Which of the following activities is meant to enhance problem-solving abilities of students of Class I1I?

frofifea & § o O nfafafy Fen 111 & 6 @) Snw-gmyE el B gem & o 82

A crossword puzzle containing clues for all key terms learnt like even number, odd number, composite number, prime number, etc.

T o el e i v west SN w9 W, faww e, Igu S, ST e e F R R €

A group project: How the students of primary wing shall be distributed equally in four houses (house system of school) so that every house has talented stuc

arts, cultural and academic activities?

TP T URaiSHT: Wit 3 & OEl B 9R Wl (09 31 e o) § 9AE T 3 59 Raka o aife R R 3 @, o, Seie ok Qe mfefafdl & vl om €

Conduct an interclass quiz in the class on ‘numbers and operations’

e ¥ FEmel 3R Wil W ue siqdiify wid s B3

A worksheet containing problems on four basic operations like — Find 25 x 34, 451 | 11, etc.

TP ghite o IR g Fri SR - 25 x 34, 451 |, 11, g Gl

Correct Ans : B

Subject : Mathematics

Q.No: 53
2481894

D

Which of the following things is not required for educating mildly mentally retarded children?
& & T AFRie w9 He T &1 Rifea a7 & fog smavaw T 82

Regular counselling

Frafr wmt

Remedial teaching

SRS fRig

Modification in the curriculum

oA # Wi

Regular evaluation

LGE)

Correct Ans : C

Subject : Mathematics

Q.No: 54
2482311

D

The purpose of student-council is to—
faeneff ufvwe &1 32 §-

develop the ability of self-discipline in students

B H SHTH-SRINH Bt & sl &

simplify the problems of school management committee

W vE A el $1 wa oY

help the Principal in gauging the morale of various students groups and organizations
faftra o wigl SR el & wHiaa S A ¥ nyFRE 9t gewdr o3

involve the students in the solution of school related problems
a9 Hefd et & WANE § S 3 M S

Correct Ans : A

Subject : Mathematics

Q.No: 55
2482367

A

C

D

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

In evaluating a textbook as per Hunter's score card, style of language is to be assessed in ... points.

TR F TR FIE ¥ TUR TSTTHS F1 Y15 FIA T, 91 3 Jelt 1 eaic ... 3y H fawan siren 21

60
60

140
140

50
50

100
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100
Correct Ans : A

Subject : Mathematics

Q.No: 56 Teaching work carried out to provide remedial measures for help it the students in getting rid of weakness or learning difficulties is termed as

2482388 BEI B SN A1 YRaH P B34 § GedRI UH § Teg TR & RO ITIRIAS SU USH TR & oY [Py R srf #1 w1 wmar gl
Tutorial teaching
A e R
Informal teaching
y s R
Class teaching
¢ BT Reor
D Remedial teaching
ITERIES g

Correct Ans : D

Subject : Mathematics

Q.No: 57 Books can be powerful source of communication, provided

2482494
TRad WAR $T = Hid 8 Il 8, 9
content is abstract
A
R OR §
content is illustrative
B
ot feff ¥
Medium is Hindi
C
e R &
D content is presented through good print
Tt 3 fite & e A IRga B T @

Correct Ans : B

Subject : Mathematics

Q.No: 58  Students ability to apply the concept of square roots in real life situation can be assessed through the following problem
2482639

ardfae siad & A & arige &1 SauRT &) A &R &1 BTl B & ST S el Taw & mead 3 fear o 9ol §:

2025 plants are to be planted in a garden in such a way that each row contains as many plants as the number of rows. Find the number of rows and number

row.
A
T i & 2025 1Y 39 THR 7T 9H € 5 v ofR F Ian & 0 < R e ot 3 v &1 ot 9 sem ok vk i didt 9t wem @ #iki
Calculation the square root of 25600
8 25600 . & FIGE $} T HY
Find the smallest number that may be subtracted from 5607 to get a perfect square
¢ % B Q BN Fem T PR R 5607 F Tere quf o T s o e &
o Find the smallest square number that is divisible by each of the number 4, 9 and 10

8 DY T B G ra pi R 5607 { weraR guf o+ v far o e &

Correct Ans : A

Subject : Mathematics

Q.No: 59 The administration of a teaching unit involves

2482712
T Reor g7 F v A it @
A Introduction
8 Presentation
C Evajuation
HAh
D All of the given option
o g wf fawe

Correct Ans : D

Subject : Mathematics

Q.No: 60 The following are the main in the inventories made for personality valuation-
2482802

Ffdia i F o s g sfaset # Fafdifea v §-

Bell’s Adjustment Inventory

A TSoReHT gl

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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B Bernreuter’s personality Inventory

TRIR TR el

Woodworth’s Personality Data Sheet
¢ ow s e e

All of the given option
° few Mg Wi R

Correct Ans : D

Subject : Mathematics

Q.No: 61 The movement to conserve trees was:

2469498
U3 & e FT SfiEIa ol
Silent Valley Movement
A
wrde It s
Chipko Movement
B
e sidierT
Appiko Movement
C
SR T
Jungle Bachao Movement
D

ST TS Sidter
Correct Ans : B

Subject : Environmental Study

Q.No: 62 Choose the correct statement to prove that Environmental Studies is related to science.

2469526
g Sd B & fow et Hu A b gafaror s fagm & SEfa 31
Both the topics have ‘science’ in them
A
S forwall ‘o
Both the subjects are taught by science teacher
B
3Tt el ) forrt i GRT e v @
Both Science and EVS are taught in school as subjects
C
5o & g ofR $divg gFt 3t fwg & w9 F grar o §
Science has affected the environment in both positive and negative manner
D

AT 3 TRy 3 IPRES AR THRIAS S a7 & THifa R &

Correct Ans : D

Subject : Environmental Study

Q.No: 63 The mountain chain called 'Western Ghats' which is recognized as one of the world's eight hottest hotspots of biodiversity spreads:
2469555

uftedt are A udd e O g & oie el T 99 fafduar o & F ve & w9 F HRya ua g

Bihar - Jharkhand - West Bengal

A
Maharashtra - Karnataka - Kerala
B
TERIY - FleP - IR
Arunachal Pradesh - Assam - Meghalaya
C
SV US™ - 39 - Hered
D Punjab - Rajasthan - Gujarat

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

18/46
Page - 18



U - ISR - ORI
Correct Ans : B

Subject : Environmental Study

Q.No: 64 Example of fossil fuel

2469773
H Q SharE $uF BT ISR ¢-
Petroleum
A
Y
Wood
B
aw!
Solar
C
R
Water
D
EEJ

Correct Ans : A

Subject : Environmental Study

Q.No: 65 According to environmentalist controversial plant is-
2470141

TafRufeE & SER faerag g §-

Tulsi

sl

Awla

w

S{laett

Eucalyptus

qHied

Neem

Eited
Correct Ans : C

Subject : Environmental Study

Q.No: 66 Doing activities with children will be effective only if
2470300

= & WY Tfafafial s qeft v g o

The teacher does not know why she is doing it

The teacher does them as a pretence to obey her principal’s direction for activity based learning

The teacher believes that activity based education will help the child in understanding the concept

A
e B U T 5 78 T R IR @
The teacher conducts them to complete her lesson plan
B
e ot wTe AT B IR FRA & R ST W el §
C
Rigges 35 IRy smenfid siftrm & Rig sias wemTeE & P @1 uren SR @ R F¥ar §
D

Riespt o1 AT § e fafafly smenfa Rien 9= F s@yRON B THIA # Heg SR

Correct Ans : D

Subject : Environmental Study

What is the name aiven to the shelters of doas and cat?

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Q.No: 67

2470597
gl 3R faceh & sl &Y 7 A foan ma 2
Kennel
A
Fa
Coop
B
REanl
Hut
C
e
Barn
D
e §

Correct Ans : A

Subject : Environmental Study

Q.No: 68 The Rajarajeshvara temple is located at;
2470653

JTSRTOIR AR R §;

Chennai

g

Hyderabad

FEE

Thanjavur

TR

Gujarat

Correct Ans : C

Subject : Environmental Study

Q.No: 69 How many World Heritage Sites does India have?
2470765

UYRG F U fora 3y eRieR =@ &2
25

25
40

40
35

35
19

19
Correct Ans : B

Subject : Environmental Study

Q.No: 70 Which watershed development project sponsored by central Government and executed by Gram Panchayat to conserve water for drinking Irrigation, fisheries and afforestation

2472124

Pl qTeRS AT RSl g AR gRT UG § SR 9 dad gR daord, Ridrs, #c urer SR aHiexu & fog ad-1fa 3 718 82

A Johad

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

20/46
Page - 20



Meeru
B

iy

Haryali
(o}

T

Neeru
D

RS

Correct Ans : C

Subject : Environmental Study

Q.No: 71 What is the objective of watershed management?

2472291
TERLT TeH P IR T 82
meeting the problems of land and water use
A
ity AR T STET B FERNS B R FRAT
maintaining growing population
B
TGl S B ST G
Increasing living standard
C
g wR & gf
sustainable distribution of its resources
D

3 TRl BT Had AR

Correct Ans : A

Subject : Environmental Study

Q.No: 72 A snowstorm is a winter storm in which the primary form of precipitation is snow and such a storm is accompanied by winds above 32 mph that severely reduce visibility, it be
2472312

fRmurd v faerel qwe e auf &1 wufte w0 a6 a1 ¥ R ¥ qee 32 Hia vl 6 § SR 9 gl F ary giar @ o exad B 1R FU A 9 IR a1 ¢, 98 U o ol §

blizzard
A
TN @A
Hazards
B
Tw®
hyperthermia
c
Sfferara
wind
D
Tl

Correct Ans : A

Subject : Environmental Study

Q.No: 73 The tigers are extensively killed for the supposed medicinal properties of its bones that are used in

2472351
el 3 3! B & Hia shwdha ol & R o M W AR @ s 7, et Iwan ..., ® far e @
Chinese medicine
A
g gar
B Japanes furniture
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 21/46
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ST W

phytomedicines.

GrRERRRE

Herbal medicine

Tod AfeRE
Correct Ans : A

Subject : Environmental Study

Q.No: 74 ISRO has successfully demonstrated free-space Quantum Communication over a distance of:

2474060

TR A e g8 R W-109 HicH TR FT Ihaagds Y fFar 32

700 m
A

700 m

800 m
B

800 m

1 km
C

1 km

300 m
D

300 m

Correct Ans : D

Subject : Environmental Study

Q.No: 75 The "“artificial sun" is a

2474105
gt i ¥
Nuclear fusion reactor
A
TR e Reaey
Steam Turbine
B
W e
Boiling wate reactor
C
Jaert U BT RggeR
Nuclear Fission reactor
D

Ty faEsT Ry
Correct Ans : A

Subject : Environmental Study

Q.No: 76  Which laboratory made the plasma analyser package for Aditya L1?

2474241
T TR ¥ Snfew Tl & g wiren fagde A S
Jet Propulsion Labarotory
A
e Yoite WA
Space Physics Laboratory, VSSC
B
fafe wifrast e, doe.gw.d.
SpaceX
C
T
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 22/46
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D DRDO

dhom.ELat.

Correct Ans : B

Subject : Environmental Study

Q.No: 77 The Psyche mission by NASA is-

2474254

AT ER1 AN A @

A journey to a unique metal-rich asteroid orbiting the Sun between Mars and Jupiter.
A

T IR Jeaa & o T o uRerr w7 A U sified UIg-wg g 9 am

A journey to a unique metal-rich asteroid orbiting the Sun between Earth and Jupiter.
B

gt 3R gewfa & g 9 9 ued T 9kl U sifgela uTg-ans asuE @t gE

A journey to a unique metal-rich asteroid orbiting the Sun between Pluto and Uranus
¢

R IR T i e 8 R 5 8 O St - e ) A

A journey to a unique metal-rich asteroid orbiting the Sun between Moon and Jupiter.
D

<5 SR gEwfa & T 3 uierT R 910 T st -9 s o A
Correct Ans : A

Subject : Environmental Study

Q.No: 78 Which of the following is not involved in the formation of soil?

2475674
frmfarea # & o firgt & Fmio 3 it 161 82
Minerals
A
e genf
Leaves
B
w
air
C
a
Water
D
qr

Correct Ans : B

Subject : Environmental Study

Q.No: 79 Which of the following is not used in obtaining manure?

2475775
Frafeiea 7 & [Suer Sub we e 3 # TeT e S g2
plants
A
qe
animals
B
SHaRT
stone
C
R
Plants, animals and stone
D

0, TR AR TRR
Correct Ans : C

Subject : Environmental Study
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Q.No: 80 can be used for storing food grains at home.

2475870
BT I W W el F HSRU & g foan s 81 faa v R
Water
A
it
Kerosene
B
FARA
Dried neem leaves
C
wWAFw
Sugar
D
CiEi)

Correct Ans : C

Subject : Environmental Study

Q.No: 81 FIBA is a tournament of which game?

2476460
o1 (FIBA) T @1 @1 gefile 87
Football
A
el
Baseball
B
ELCIC
Rugby
C
K|
Basketball
D
TP

Correct Ans : D

Subject : Environmental Study

Q.No: 82 A Project includes:

2477322
& ufvdier # i §:
Only field work
A
Faq &7 Il
Field work and Desk work
B
& o IR S Hrd
Rote learning
C
e dre
Only desk work
D

Faq S I

Correct Ans : B

Subject : Environmental Study

Q.No: 83 A high dose of UV-B causes inflammation of cornea which is known as what?
2477835

RS- (gdl-) ) I= A6 WBHSa (ST BT WY BT SR AT € RR 91 Bl W 82
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A Glaucoma

TAIBIT (BT Hifeam)
Refractive Errors
B
Juade Feat
Amblyopia
C
Sfefiefiran
Snow-blindness
D

RH-HUI T sellgsad
Correct Ans : D

Subject : Environmental Study

Q.No: 84 In which year did the infamous earthquake occur in the Bhuj region of Gujarat, where more than 10,000 died?
2477908

5 af ToRa & Y& &F T oI YU 11 I, el 10,000 ¥ & 9RT AR 7T A2

2000
A

2000

2002
B

2002

2001
C

2001

2004
D

2004

Correct Ans : C

Subject : Environmental Study

Q.No: 85 The biosphere along with the atmosphere, hydrosphere and lithosphere is called what?

2477982
THSY, TAHSH IR RICHST F 1Y SaHsd B F1 gl 9l 82
Ecosphere

A
TRHST (FPRPIR)
Environment

B
TR (TEERAHE)
Universe

C
IS (gFad)
Ecosystem

D
TR 97 (FPRren)

Correct Ans : A

Subject : Environmental Study

Q.No: 86 A contamination of which gas with natural gas resuits in Sour Gas?

2477989
WpRiE T & W 5w e % g 99 ¥ sma i (AR ) s g2
Propane

A
el

B Butane

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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=

Hydrogen sulfide

C
BIGGISH APIES
Methane

D
:bC ]

Correct Ans : C

Subject : Environmental Study

Q.No: 87 According to the National Governor’s Association of USA, all students reading by third grade explains that reading proficiency requires which of these following interrelated skill
2478568 1. Language and communication

2. Mechanics of reading

3. Content knowledge

Choose the correct code -

AR T THIRITYA i AT & SR, d98 H&l aF g ara 9t B 9a1d § 6 el @1 gaa & forw Fofofla & 9 399 9 5 Slavuiey HIRIa 31 saxaddr g2
1. HT 3R WAR

2. uga 3t Aifawt

3. wEdt §H

e FIS g -

Only 1 and 2

Fad 1 IR 2

Only 2and 3

Fag 2 AR 3
Only 1 and 3

Fag 18R 3
1,2and 3

1,23R3

Correct Ans : D

Subject : Environmental Study

Q.No: 88 In which year did the term Web 2.0 originate?

2478596
9 2.0 TG H 3 59 Ty g8 M
1991
A
1991
1998
B
1998
2004
c
2004
2010
D
2010

Correct Ans : C

Subject : Environmental Study

Q.No: 89  Who out of the following arranged the learning experiences on a continuum of ‘directness to indirectness’ which has correlation with continuum of ‘concreteness to abstract’?
2478606

Fofifed # 3 e TR F syl 3 s 31 SR Tdear 3 AR R Fafkid far, e g6y uR $ fARaar 382
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A Edgar Dale

TSR 3T

Robert Bruce

B
RLCE
Jean Piaget
¢
S Rt
Charles Darwin
D

o S

Correct Ans : A

Subject : Environmental Study

Q.No: 90  Which of the following is a Projected visual but still TLM (Teaching Learning Material)?

2478690
e ¥ 3 3F w 1af W Shaa T AU, T, (e i e 22
Filmstrips
A
et
Photographs
B
Gici
Television
C
e
Hologram
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Correct Ans : A

Subject : Environmental Study

Passage:

Direction: Read the given poem and answer the question given below accordingly.
I was angry with my friend;

I told my wrath, my wrath did end.
I was angry with my foe:

I told it not, my wrath did grow.
And I watered it in fears,

Night & morning with my tears:
And I sunned it with smiles,

And with soft deceitful wiles.

And it grew both day and night.

Till it bore an apple bright.

And my foe beheld it shine,

And he knew that it was mine.

And into my garden stole,

When the night had veiled the pole;
In the morning glad I see;

My foe outstretched beneath the tree.

Q.No: 91 What type of figure of speech is used in ‘watered it in fears’?

A simile

B rhyme

C realism

D metaphor
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Correct Ans : D

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
I was angry with my friend;

I told my wrath, my wrath did end.
I was angry with my foe:

I told it not, my wrath did grow.
And I watered it in fears,

Night & morning with my tears:
And I sunned it with smiles,

And with soft deceitful wiles.

And it grew both day and night.

Till it bore an apple bright.

And my foe beheld it shine,

And he knew that it was mine.

And into my garden stole,

When the night had veiled the pole;
In the morning glad I see;

My foe outstretched beneath the tree.

Q.No: 92 Which of the following is the most suitable title for the given poem?

A The disaster of a night
B Unhappiness of the rich
C Anger management

D A poison tree

Correct Ans : D

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
I was angry with my friend;

I told my wrath, my wrath did end.
I was angry with my foe:

I told it not, my wrath did grow.
And I watered it in fears,

Night & morning with my tears:
And I sunned it with smiles,

And with soft deceitful wiles.

And it grew both day and night.

Till it bore an apple bright.

And my foe beheld it shine,

And he knew that it was mine.

And into my garden stole,

When the night had veiled the pole;
In the morning glad I see;

My foe outstretched beneath the tree.

Q.No: 93 Which of the following does not denote the rhyming used in the given poem?

A friend-end

B stole-pole

C foe-grow

D bright-veiled

Correct Ans : D

Subject : English Language 02
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Passage:

Direction: Read the given poem and answer the question given below accordingly.

I was angry with my friend;

I told my wrath, my wrath did end.
I was angry with my foe:

I told it not, my wrath did grow.
And I watered it in fears,

Night & morning with my tears:
And I sunned it with smiles,

And with soft deceitful wiles.

And it grew both day and night.
Till it bore an apple bright.

And my foe beheld it shine,

And he knew that it was mine.
And into my garden stole,

When the night had veiled the pole;
In the morning glad I see;

My foe outstretched beneath the tree.

Q.No: 94  What does the word ‘wrath’ mean in the given poem?

A an indirect way of expressing something
B utter or proclaim insistently and noisily
C a feeling of deep regret

D extreme anger

Correct Ans : D

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

I was angry with my friend;

I told my wrath, my wrath did end.
I was angry with my foe:

I told it not, my wrath did grow.
And I watered it in fears,

Night & morning with my tears:
And I sunned it with smiles,

And with soft deceitful wiles.

And it grew both day and night.
Till it bore an apple bright.

And my foe beheld it shine,

And he knew that it was mine.
And into my garden stole,

When the night had veiled the pole;
In the morning glad I see;

My foe outstretched beneath the tree.

Q.No: 95 Which of the following is nearest in meaning to the word ‘wrath’ ?

A Wraith

B Rage

C Spook

D Phantom

Correct Ans : B

Subject : English Language 02
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Passage:

Direction: Read the given poem and answer the question given below accordingly.

I was angry with my friend;

I told my wrath, my wrath did end.
I was angry with my foe:

I told it not, my wrath did grow.
And I watered it in fears,

Night & morning with my tears:
And I sunned it with smiles,

And with soft deceitful wiles.

And it grew both day and night.
Till it bore an apple bright.

And my foe beheld it shine,

And he knew that it was mine.
And into my garden stole,

When the night had veiled the pole;
In the morning glad I see;

My foe outstretched beneath the tree.

Q.No: 96 What does the word ‘veiled’ mean in the given poem?

A something that is foggy or unclear
B something added to embellish or make perfect
C showing an inclination to disagree
D extreme greed for material wealth

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

I was angry with my friend;

I told my wrath, my wrath did end.
I was angry with my foe:

I told it not, my wrath did grow.
And I watered it in fears,

Night & morning with my tears:
And I sunned it with smiles,

And with soft deceitful wiles.

And it grew both day and night.
Till it bore an apple bright.

And my foe beheld it shine,

And he knew that it was mine.
And into my garden stole,

When the night had veiled the pole;
In the morning glad I see;

My foe outstretched beneath the tree.

Q.No: 97 My foe outstretched beneath the tree. Which part of speech is the word ‘Foe’ in the given line of the poem?

A Verb

B Pronoun
[+ Noun

D Adjective

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.
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The story of the Ramayana can be said to have evolved because of the craftiness of two people: Manthara and Akampana. Manthara, as we all know, was the hunchback maid of Kaikeyi.
of the palace when she saw the city bursting with festivities. She wobbled along to find someone to inquire the reason. "Ram is being crowned tomorrow,” said Kaushalya’s maid. Immediza
down to Kaikeyi’s room and reprimanded her harshly, “You foolish woman, get up. Do you know that tomorrow is Rama's coronation as the crown prince?” Kaikeyi did not heed Manthara.
Ram was being crowned. After all, was it not what they had waited for. “Ram or Bharat, it makes no difference to me. They both are the same to me,” said Kaikeyi. Manthara saw that Kai
change her mind so easily, so she played her trump card: “Kaushalya who has always been jealous of the king’s affection for you is now going to wreak vengeance on you. Her son will be
another person in the palace. She will rule...” Kaikeyi held her husband's affection and was proud of that. She could see a jealous Kaushalya belittling her. Manthara had made her ego bris
began listening to Mantra and the rest is known. Another character, much less known, is Akampana. He had been in Janasthana with Khara, Trisaras and Dushan.

Ram killed all of them along with 14,000 rakshasas. Akamapana escaped and came running to Ravan to give the message. Ravan was furious and hurt. He wanted to avenge the death of
was ready to go to war with Ram immediately. Akampana declares that Ram can never be won in war by Ravan. "What you can do is to kidnap his wife. He is very attached to her. Once y
death will be certain.” Ravan went to Maricha and asked him to help kidnap Sita. Maricha admonished him. "Why would you ask for trouble? Don‘t play with such a powerful man. Go back
let your city and citizens prosper.” Ravan took the advice and came back. He too, like Kaikeyi, could see reason. However, within some time Surpanaka, hurt and wailing, came to Ravan a
deriding him by saying, "What kind of king are you that mere mortals injure your sister and you do not even know about it,” she also said, "I went there only to get that beautiful woman

that ...” She caught the lustful imagination of Ravan and hurt his ego by questioning his power as a ruler. Then Ravan changed his mind about Akampana’s suggestion and went back to Mz
not heed Maricha‘s advice. And the rest is known. Manthara and Akampana were the two people who turned the minds of Kaikeyi and Ravan. Both Kaikeyi and Ravan resisted it initially, b
weakness let them down and they became easy targets to influence. Kaikeyi lived to repent, Ravan lost his life. Today social media can sometimes play the roles of Manthara and Akampa

Q.No: 98 Which of the following emotions played a role in changing Ravan’s opinion as per the information given in the passage?

A Ego

B Self-esteem
C Jealously

D Revenge

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The story of the Ramayana can be said to have evolved because of the craftiness of two people: Manthara and Akampana. Manthara, as we all know, was the hunchback maid of Kaikeyi.

of the palace when she saw the city bursting with festivities. She wobbled along to find someone to inquire the reason. “Ram is being crowned tomorrow,” said Kaushalya’s maid. Immedia
down to Kaikeyi’s room and reprimanded her harshly, “You foolish woman, get up. Do you know that tomorrow is Rama's coronation as the crown prince?” Kaikeyi did not heed Manthara.
Ram was being crowned. After all, was it not what they had waited for. "Ram or Bharat, it makes no difference to me. They both are the same to me,” said Kaikeyi. Manthara saw that Kai
change her mind so easily, so she played her trump card: “Kaushalya who has always been jealous of the king’s affection for you is now going to wreak vengeance on you. Her son will be
another person in the palace. She will rule...” Kaikeyi held her husband’s affection and was proud of that. She could see a jealous Kaushalya belittling her. Manthara had made her ego bris
began listening to Mantra and the rest is known. Another character, much less known, is Akampana. He had been in Janasthana with Khara, Trisaras and Dushan.

Ram killed all of them along with 14,000 rakshasas. Akamapana escaped and came running to Ravan to give the message. Ravan was furious and hurt. He wanted to avenge the death of
was ready to go to war with Ram immediately. Akampana declares that Ram can never be won in war by Ravan. "What you can do is to kidnap his wife. He is very attached to her. Once y
death will be certain.” Ravan went to Maricha and asked him to help kidnap Sita. Maricha admonished him. "Why would you ask for trouble? Don’t play with such a powerful man. Go back
let your city and citizens prosper.” Ravan took the advice and came back. He too, like Kaikeyi, could see reason. However, within some time Surpanaka, hurt and wailing, came to Ravan a
deriding him by saying, “What kind of king are you that mere mortals injure your sister and you do not even know about it,” she also said, “I went there only to get that beautiful woman

that ...” She caught the lustful imagination of Ravan and hurt his ego by questioning his power as a ruler. Then Ravan changed his mind about Akampana’s suggestion and went back to Mz
not heed Maricha’s advice. And the rest is known. Manthara and Akampana were the two people who turned the minds of Kaikeyi and Ravan. Both Kaikeyi and Ravan resisted it initially, b
weakness let them down and they became easy targets to influence. Kaikeyi lived to repent, Ravan lost his life. Today social media can sometimes play the roles of Manthara and Akampa

Q.No: 99 Which of the following can be inferred from the passage?

A Ravan and Kaikeyi were happy initially but they were influenced to take the wrong part.
B Social media is like Ravan and Kaikeyi

C Maricha had the power to stop Ravan

D Manthara and Akampana are sisters

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The story of the Ramayana can be said to have evolved because of the craftiness of two people: Manthara and Akampana. Manthara, as we all know, was the hunchback maid of Kaikeyi.

of the palace when she saw the city bursting with festivities. She wobbled along to find someone to inquire the reason. "Ram is being crowned tomorrow,” said Kaushalya’s maid. Immediz
down to Kaikeyi’s room and reprimanded her harshly, “You foolish woman, get up. Do you know that tomorrow is Rama's coronation as the crown prince?” Kaikeyi did not heed Manthara.
Ram was being crowned. After all, was it not what they had waited for. "Ram or Bharat, it makes no difference to me. They both are the same to me,” said Kaikeyi. Manthara saw that Kai
change her mind so easily, so she played her trump card: “Kaushalya who has always been jealous of the king’s affection for you is now going to wreak vengeance on you. Her son will be
another person in the palace. She will rule...” Kaikeyi held her husband’s affection and was proud of that. She could see a jealous Kaushalya belittling her. Manthara had made her ego bris
began listening to Mantra and the rest is known. Another character, much less known, is Akampana. He had been in Janasthana with Khara, Trisaras and Dushan.

Ram killed all of them along with 14,000 rakshasas. Akamapana escaped and came running to Ravan to give the message. Ravan was furious and hurt. He wanted to avenge the death of
was ready to go to war with Ram immediately. Akampana declares that Ram can never be won in war by Ravan. "What you can do is to kidnap his wife. He is very attached to her. Once y
death will be certain.” Ravan went to Maricha and asked him to help kidnap Sita. Maricha admonished him. *“Why would you ask for trouble? Don't play with such a powerful man. Go back
let your city and citizens prosper.” Ravan took the advice and came back. He too, like Kaikeyi, could see reason. However, within some time Surpanaka, hurt and wailing, came to Ravan a
deriding him by saying, “What kind of king are you that mere mortals injure your sister and you do not even know about it,” she also said, "I went there only to get that beautiful woman

that ...” She caught the lustful imagination of Ravan and hurt his ego by questioning his power as a ruler. Then Ravan changed his mind about Akampana’s suggestion and went back to M:
not heed Maricha’s advice. And the rest is known. Manthara and Akampana were the two people who turned the minds of Kaikeyi and Ravan. Both Kaikeyi and Ravan resisted it initially, b
weakness let them down and they became easy targets to influence. Kaikeyi lived to repent, Ravan lost his life. Today social media can sometimes play the roles of Manthara and Akampa
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Q.No: 100 Who was Maricha as per the information given in the passage?

A Ravan’s sister

B Ravan‘t brother

C Ravan’s adviser

D None of the given options

Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The story of the Ramayana can be said to have evolved because of the craftiness of two people: Manthara and Akampana. Manthara, as we all know, was the hunchback maid of Kaikeyi.
of the palace when she saw the city bursting with festivities. She wobbled along to find someone to inquire the reason. "Ram is being crowned tomorrow,” said Kaushalya’s maid. Immedia
down to Kaikeyi’s room and reprimanded her harshly, “You foolish woman, get up. Do you know that tomorrow is Rama's coronation as the crown prince?” Kaikeyi did not heed Manthara.
Ram was being crowned. After all, was it not what they had waited for. “Ram or Bharat, it makes no difference to me. They both are the same to me,” said Kaikeyi. Manthara saw that Kai
change her mind so easily, so she played her trump card: “Kaushalya who has always been jealous of the king’s affection for you is now going to wreak vengeance on you. Her son will be
another person in the palace. She will rule...” Kaikeyi held her husband’s affection and was proud of that. She could see a jealous Kaushalya belittling her. Manthara had made her ego bris
began listening to Mantra and the rest is known. Another character, much less known, is Akampana. He had been in Janasthana with Khara, Trisaras and Dushan.

Ram killed all of them along with 14,000 rakshasas. Akamapana escaped and came running to Ravan to give the message. Ravan was furious and hurt. He wanted to avenge the death of
was ready to go to war with Ram immediately. Akampana declares that Ram can never be won in war by Ravan. “What you can do is to kidnap his wife. He is very attached to her. Once y
death will be certain.” Ravan went to Maricha and asked him to help kidnap Sita. Maricha admonished him. "Why would you ask for trouble? Don’t play with such a powerful man. Go back
let your city and citizens prosper.” Ravan took the advice and came back. He too, like Kaikeyi, could see reason. However, within some time Surpanaka, hurt and wailing, came to Ravan a
deriding him by saying, "What kind of king are you that mere mortals injure your sister and you do not even know about it,” she also said, “I went there only to get that beautiful woman

that ...” She caught the lustful imagination of Ravan and hurt his ego by questioning his power as a ruler. Then Ravan changed his mind about Akampana’s suggestion and went back to Mz
not heed Maricha’s advice. And the rest is known. Manthara and Akampana were the two people who turned the minds of Kaikeyi and Ravan. Both Kaikeyi and Ravan resisted it initially, b
weakness let them down and they became easy targets to influence. Kaikeyi lived to repent, Ravan lost his life. Today social media can sometimes play the roles of Manthara and Akampa

Q.No: 101 Which of the following is NOT correct here according to the given passage?

A She caught the lustful imagination of Ravan

B Akampana was the only one who turned the minds of Kaikeyi and Ravan

C Today social media can sometimes play the roles of Manthara and Akampana
D Ravan went to Maricha and asked him to help kidnap Sita

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The story of the Ramayana can be said to have evolved because of the craftiness of two people: Manthara and Akampana. Manthara, as we all know, was the hunchback maid of Kaikeyi.
of the palace when she saw the city bursting with festivities. She wobbled along to find someone to inquire the reason. "Ram is being crowned tomorrow,” said Kaushalya’s maid. Immediza
down to Kaikeyi’s room and reprimanded her harshly, “You foolish woman, get up. Do you know that tomorrow is Rama's coronation as the crown prince?” Kaikeyi did not heed Manthara.
Ram was being crowned. After all, was it not what they had waited for. "Ram or Bharat, it makes no difference to me. They both are the same to me,” said Kaikeyi. Manthara saw that Kai
change her mind so easily, so she played her trump card: “Kaushalya who has always been jealous of the king’s affection for you is now going to wreak vengeance on you. Her son will be
another person in the palace. She will rule...” Kaikeyi held her husband’s affection and was proud of that. She could see a jealous Kaushalya belittling her. Manthara had made her ego bris
began listening to Mantra and the rest is known. Another character, much less known, is Akampana. He had been in Janasthana with Khara, Trisaras and Dushan.

Ram killed all of them along with 14,000 rakshasas. Akamapana escaped and came running to Ravan to give the message. Ravan was furious and hurt. He wanted to avenge the death of
was ready to go to war with Ram immediately. Akampana declares that Ram can never be won in war by Ravan. “What you can do is to kidnap his wife. He is very attached to her. Once y
death will be certain.” Ravan went to Maricha and asked him to help kidnap Sita. Maricha admonished him. “Why would you ask for trouble? Don't play with such a powerful man. Go back
let your city and citizens prosper.” Ravan took the advice and came back. He too, like Kaikeyi, could see reason. However, within some time Surpanaka, hurt and wailing, came to Ravan a
deriding him by saying, “What kind of king are you that mere mortals injure your sister and you do not even know about it,” she also said, “I went there only to get that beautiful woman

that ...” She caught the lustful imagination of Ravan and hurt his ego by questioning his power as a ruler. Then Ravan changed his mind about Akampana’s suggestion and went back to Mz
not heed Maricha’s advice. And the rest is known. Manthara and Akampana were the two people who turned the minds of Kaikeyi and Ravan. Both Kaikeyi and Ravan resisted it initially, b
weakness let them down and they became easy targets to influence. Kaikeyi lived to repent, Ravan lost his life. Today social media can sometimes play the roles of Manthara and Akampa

Q.No: 102 ‘She wobbled along to find someone to inquire about the reason’. Which of the following is nearest in meaning to the word ‘inquire’ in the given line?

A ignore

B respond
C neglect
D examine

Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The story of the Ramayana can be said to have evolved because of the craftiness of two people: Manthara and Akampana. Manthara, as we all know, was the hunchback maid of Kaikeyi.
of the palace when she saw the city bursting with festivities. She wobbled along to find someone to inquire the reason. "Ram is being crowned tomorrow,” said Kaushalya’s maid. Immediz

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 32/46
Page - 32



down to Kaikeyi’s room and reprimanded her harshly, “You foolish woman, get up. Do you know that tomorrow is Rama's coronation as the crown prince?” Kaikeyi did not heed Manthara.
Ram was being crowned. After all, was it not what they had waited for. “Ram or Bharat, it makes no difference to me. They both are the same to me,” said Kaikeyi. Manthara saw that Kai
change her mind so easily, so she played her trump card: “Kaushalya who has always been jealous of the king’s affection for you is now going to wreak vengeance on you. Her son will be
another person in the palace. She will rule...” Kaikeyi held her husband’s affection and was proud of that. She could see a jealous Kaushalya belittling her. Manthara had made her ego bris
began listening to Mantra and the rest is known. Another character, much less known, is Akampana. He had been in Janasthana with Khara, Trisaras and Dushan.

Ram killed all of them along with 14,000 rakshasas. Akamapana escaped and came running to Ravan to give the message. Ravan was furious and hurt. He wanted to avenge the death of
was ready to go to war with Ram immediately. Akampana declares that Ram can never be won in war by Ravan. "What you can do is to kidnap his wife. He is very attached to her. Once y
death will be certain.” Ravan went to Maricha and asked him to help kidnap Sita. Maricha admonished him. "Why would you ask for trouble? Don’t play with such a powerful man. Go back
let your city and citizens prosper.” Ravan took the advice and came back. He too, like Kaikeyi, could see reason. However, within some time Surpanaka, hurt and wailing, came to Ravan a
deriding him by saying, “"What kind of king are you that mere mortals injure your sister and you do not even know about it,” she also said, “I went there only to get that beautiful woman

that ...” She caught the lustful imagination of Ravan and hurt his ego by questioning his power as a ruler. Then Ravan changed his mind about Akampana’s suggestion and went back to Mz
not heed Maricha’s advice. And the rest is known. Manthara and Akampana were the two people who turned the minds of Kaikeyi and Ravan. Both Kaikeyi and Ravan resisted it initially, b
weakness let them down and they became easy targets to influence. Kaikeyi lived to repent, Ravan lost his life. Today social media can sometimes play the roles of Manthara and Akampa

Q.No: 103 ‘Ram is being crowned tomorrow’. Which part of speech is the word ‘tomorrow’ in the given line of the passage?

A noun

B adverb

C adjective
D pronoun

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The story of the Ramayana can be said to have evolved because of the craftiness of two people: Manthara and Akampana. Manthara, as we all know, was the hunchback maid of Kaikeyi.
of the palace when she saw the city bursting with festivities. She wobbled along to find someone to inquire the reason. "Ram is being crowned tomorrow,” said Kaushalya’s maid. Immediz
down to Kaikeyi’s room and reprimanded her harshly, “You foolish woman, get up. Do you know that tomorrow is Rama's coronation as the crown prince?” Kaikeyi did not heed Manthara.
Ram was being crowned. After all, was it not what they had waited for. "Ram or Bharat, it makes no difference to me. They both are the same to me,” said Kaikeyi. Manthara saw that Kai
change her mind so easily, so she played her trump card: “Kaushalya who has always been jealous of the king’s affection for you is now going to wreak vengeance on you. Her son will be
another person in the palace. She will rule...” Kaikeyi held her husband’s affection and was proud of that. She could see a jealous Kaushalya belittling her. Manthara had made her ego bris
began listening to Mantra and the rest is known. Another character, much less known, is Akampana. He had been in Janasthana with Khara, Trisaras and Dushan.

Ram killed all of them along with 14,000 rakshasas. Akamapana escaped and came running to Ravan to give the message. Ravan was furious and hurt. He wanted to avenge the death of
was ready to go to war with Ram immediately. Akampana declares that Ram can never be won in war by Ravan. "What you can do is to kidnap his wife. He is very attached to her. Once y
death will be certain.” Ravan went to Maricha and asked him to help kidnap Sita. Maricha admonished him. “Why would you ask for trouble? Don’t play with such a powerful man. Go back
let your city and citizens prosper.” Ravan took the advice and came back. He too, like Kaikeyi, could see reason. However, within some time Surpanaka, hurt and wailing, came to Ravan a
deriding him by saying, "What kind of king are you that mere mortals injure your sister and you do not even know about it,” she also said, "I went there only to get that beautiful woman

that ..” She caught the lustful imagination of Ravan and hurt his ego by questioning his power as a ruler. Then Ravan changed his mind about Akampana’s suggestion and went back to Mz
not heed Maricha’s advice. And the rest is known. Manthara and Akampana were the two people who turned the minds of Kaikeyi and Ravan. Both Kaikeyi and Ravan resisted it initially, b
weakness let them down and they became easy targets to influence. Kaikeyi lived to repent, Ravan lost his life. Today social media can sometimes play the roles of Manthara and Akampa

Q.No: 104 ‘Because of the craftiness of two people’. Which of the following is opposite in meaning to the word ‘craftiness’?

A honesty
B deceit

C trickery
D dare

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The story of the Ramayana can be said to have evolved because of the craftiness of two people: Manthara and Akampana. Manthara, as we all know, was the hunchback maid of Kaikeyi.
of the palace when she saw the city bursting with festivities. She wobbled along to find someone to inquire the reason. "Ram is being crowned tomorrow,” said Kaushalya’s maid. Immediz
down to Kaikeyi’s room and reprimanded her harshly, “You foolish woman, get up. Do you know that tomorrow is Rama's coronation as the crown prince?” Kaikeyi did not heed Manthara.
Ram was being crowned. After all, was it not what they had waited for. "Ram or Bharat, it makes no difference to me. They both are the same to me,” said Kaikeyi. Manthara saw that Kai
change her mind so easily, so she played her trump card: “Kaushalya who has always been jealous of the king’s affection for you is now going to wreak vengeance on you. Her son will be
another person in the palace. She will rule...” Kaikeyi held her husband’s affection and was proud of that. She could see a jealous Kaushalya belittling her. Manthara had made her ego bris
began listening to Mantra and the rest is known. Another character, much less known, is Akampana. He had been in Janasthana with Khara, Trisaras and Dushan.

Ram killed all of them along with 14,000 rakshasas. Akamapana escaped and came running to Ravan to give the message. Ravan was furious and hurt. He wanted to avenge the death of
was ready to go to war with Ram immediately. Akampana declares that Ram can never be won in war by Ravan. “What you can do is to kidnap his wife. He is very attached to her. Once y
death will be certain.” Ravan went to Maricha and asked him to help kidnap Sita. Maricha admonished him. *Why would you ask for trouble? Don't play with such a powerful man. Go back
let your city and citizens prosper.” Ravan took the advice and came back. He too, like Kaikeyi, could see reason. However, within some time Surpanaka, hurt and wailing, came to Ravan a
deriding him by saying, “"What kind of king are you that mere mortals injure your sister and you do not even know about it,” she also said, “I went there only to get that beautiful woman

that ...” She caught the lustful imagination of Ravan and hurt his ego by questioning his power as a ruler. Then Ravan changed his mind about Akampana’s suggestion and went back to M:
not heed Maricha’s advice. And the rest is known. Manthara and Akampana were the two people who turned the minds of Kaikeyi and Ravan. Both Kaikeyi and Ravan resisted it initially, b
weakness let them down and they became easy targets to influence. Kaikeyi lived to repent, Ravan lost his life. Today social media can sometimes play the roles of Manthara and Akampa

Q.No: 105 ‘it makes no difference to me’. Which part of speech is the word ‘difference’ in the given line of the passage?

A noun
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B adjective
C adverb
D determiner

Correct Ans : A

Subject : English Language 02

Q.No: 106 What do you we mean when we use the term ‘Activating learner’s schema‘?

A making a link between the topic and learners background knowledge and experience
B dealing with learners having learning difficulties

C showing a picture and asking learners to write a story

D none of the given options

Correct Ans : A

Subject : English Language 02

Q.No: 107 Eclecticism in language teaching refers to which of the following?

A appropriate strategies from various methods of teaching
B technology to teach a language

C all the methods of language teaching

D all of the given options

Correct Ans : A

Subject : English Language 02

Q.No: 108 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

You can't get a job you have experience.
A and
B unless
C with
D despite

Correct Ans : B

Subject : English Language 02

Q.No: 109 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

Sonali was born in London August.
A in-on
B n-in
(o) at-on
D at-in

Correct Ans : B

Subject : English Language 02

Q.No: 110 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

The museum is full of rare and treasures.
A securely
B safely
c precious
D nervous

Correct Ans : C

Subject : English Language 02

Q.No: 111 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

The little village has very streets.
broadly
love

ideally

o N0 o >

narrow
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Correct Ans : D

Subject : English Language 02

Q.No: 112 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

The whole report is badly written. , it's inaccurate.
A Moreover
B out
C than
D wherever

Correct Ans : A

Subject : English Language 02

Q.No: 113 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

I'll do another course I finish this one.
A whether
B too
C after
D despite

Correct Ans : C

Subject : English Language 02

Q.No: 114 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

She walked the street.
A down
B at
C of
D for

Correct Ans : A

Subject : English Language 02

Q.No: 115 Which of the following is not informational listening?

A News

B watching documentary
C meditation

D reading newspapers

Correct Ans : C

Subject : English Language 02

Q.No: 116 How many types of speaking situations are there in which we find ourselves?

A two
B three
C four
D five

Correct Ans : B

Subject : English Language 02

Q.No: 117 A motor disability is sometimes referred to as ........... activity.
A output

B Input

C both of the given options

D None of the given options

Correct Ans : A

Subject : English Language 02

Q.No: 118 The phonetic aspect of English deals with and

A Spellings and pronunciation
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B
C
D

Homophones and synonyms

Homophones and homonyms

Synonyms and antonyms

Correct Ans : A

Subject : English Language 02

Q.No: 119 At primary level, Rahul is unable to construct simple sentences in English. As his teacher, you would

A
B
C
D

focus on his pronunciation of individual English words.
ignore the challenges faced by him.
assign him projects and homework to write complex paragraphs on varied topics using English language.

help him with the basic sentence structure and grammar rules of English language.

Correct Ans : D

Subject : English Language 02

Q.No: 120 To improve the pronunciation of difficult words in a reading session, what best possible strategy should a teacher use?

A
B
C
D

Teacher should ask the students to repeat the difficult words.
Teacher should ask students to underline difficult words and learn their pronunciation at home.
Teacher should show a video to teach correct pronunciation.

Teacher should use audio to teach correct pronunciation.

Correct Ans : C

Subject : English Language 02

Q.No: 121 Ppsychoanalytic theory of personality was given by -

2473835

Kelley

Fet
Allport

B ceich
Sheldon

A

Sigmund Freud

Rrmvs ws

Correct Ans : D

Subject : Child Developement

Q.No: 122 A person having a highly structured attitude will

2474515

i TRfa THIgh A s I T 90T gl §

give a poor cognitive response to a stimulus

ST & i TR SIS ST &

give a quick cognitive response to a stimulus

Ieer & fog @i e wiiftear &

have feelings and beliefs which are in conflict with his/her attitude

A T SR AT € o g% e &1 Fed e §

none of the given options

fw g et § & B T

Correct Ans : B

Subject : Child Developement

Q.No: 123 A child has been admitted to your school who belongs to a back ward family/ background from the cultural viewpoint. You will
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2474604
wieplod fR@ A e uRar/geyfl A W& 1@ o= &1 omud g # waw fear war § < 3. a9 oM

Keep him in a class in which, there are many more students of backward background from the cultural viewpoint

A
T U e H & e IRl = § ot gy & oRe femdf <f
Send a teacher to know more about the backward cultural background of the child
B
= &1 Rod areiie Teuf & TR F ot T & R Risks 21 K59
Keep him in a normal class but will make special arrangements for teaching him, keeping his special needs in view
¢
I AR T F T AT Su! ARy edl 3 o H WA §U UGH P AR IR S
Advise him to take up vocational education
D

I SR g A Bt g I

Correct Ans : D

Subject : Child Developement

Q.No: 124 Which is not a very good method of learning vocabulary?
2476233

1. Writing

2. Watching movies

3. Talking and reading

YegTae WG 1 HIA A T agd 3T T 32
1. fergm

2. ftoe &

3. &1 &A1 3R Ul

Only 1 is correct

Faa 1T E

Only 2 is correct

P20 e

Only 3 is correct

FIT3I T T

Both 1 and 2 is correct

1R 2w

Correct Ans : D

Subject : Child Developement

Q.No: 125 Which of the statement is incorrect?

2476252
B-8I HU T &7
Premature baby is weak.
A
T Y U5 T T SR B §
The testicles of a premature baby do not descend into scrotum sac after birth as in case of normal child
B
T 9 U6 I & SiSHIN oA & a6 Sfe @1 el F e Soal § S 6 0w 9 & A F € 8
Premature baby’s cries and other sounds are feeble
C
TG R Uga T B AT AR S TS HHER gt §
Premature baby weight is always more than normal child
D

T TR T P I S U W 7§ e S d
Correct Ans : D

Subject : Child Developement
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Q.No: 126 The way through which the art of using skill and practice is given to learn is called

2476345
e a¥e § BRI R 31T BT ST TR B Ha B W F R R S ¥ S Far I 3
learning
A
Rikcal
acquisition
B
3t
erudition
C
fergen
recitation
D
LCE

Correct Ans : A

Subject : Child Developement

Q.No: 127 wanting better gender equality is an example of goal:
2476865
VER AMNG TAFM ARG 6T BT TP I3 8
short term
A
g 3y
long term
B
efafy
societal
C
IS
personal
D
R

Correct Ans : C
Subject : Child Developement

Q.No: 128 Teaching should be according to the

2476960

T, & TR B AT

Mental level of the teachers
A

et & AARE TR

Mental level of the students
B

BHE & AFR® TR

Mental level of the Principal
C

UUFIEATS P HARS &R

Mental level of the parents
D

raT-fen & AR wWR

Correct Ans : B

Subject : Child Developement

Q.No: 129 Observe the following statements:
2477021

1. For a child to start speaking is mostly influenced by maturation.

2. One can't speak fluently and meaningfully without proper practice which is essentially influenced by learning.
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Choose the correct code:

Frofif sy R IR FX:

1. T 99 ¥ fOU SiaHT & BT SUIGKR uRuSar 3 a8 gl

2. ¥ ot IR enar & 31 yRaTE SR Srefquf & & 76 i o g, S sifFard wu ¥ it & waifad g g1
T IS T

Only 1

FaT 1
Only 2

Fad 2

Neither 1 nor 2

T LRI 2
Both 1 and 2

dFr1 3R 2

Correct Ans : D

Subject : Child Developement

Q.No: 130 Formal operation stage of Piaget individual development stages evolve at what age?

2477537
forars) & wafdoTa fawra % ROl &1 s are Wl e 39§ feRa g 82
0-2 Years
A
0-2ay
2-7 Years
B
2-7 3§
7-11 Years
¢
7-11 3§
More than 12 Years
D

12 99 § 3fE

Correct Ans : D

Subject : Child Developement

Q.No: 131 Which of the following statements about the Juvenile Justice (Care and Protection of Children) Act, 2015 is incorrect?

2477760
2R =g (a= 3 ST 3R wRewn) siftfaw, 2015 ¥ IR § Fofafaa # § S @1 o3 Tod 27
It has a change in nomenclature from ‘child’ or ‘child in conflict with law’ to ‘juvenile’.
A
T T (TEE)" T BT BT et B A1 Sl (FIEE T PG 4G a1 I qeaes iR (GRd)” SR R )
It establishes clear timeli for inquiry by the Juvenile Justice Board (JIB).
B
Tg iR = 1S (St g1 i & forg T el wift w31
It provides new definitions such as of orphaned, abandoned children etc.
C
T 3, TR Tt i B 7S AR e e 2
It demarcates the petty, serious and heinous offences committed by children.
D

Tg Tl g U T B, TR SR wER SraRTel T Wnie SRl 1
Correct Ans : A

Subject : Child Developement

Q.No: 132
2477764
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As per the Juvenile Justice (Care and Protection of Children) Act, 2015, “petty offences” includes the offences for which the minimum punishment under the Indian Penal Code
the time being in force is imprisonment -

iR o (F=i @t J@uTa 9k WRewn) sffEm, 2015 & AR, "SI IR § 4 Rty i € e e urdta < e ar aerm vgw el sk Rl & srde s < F
upto three years.
A
EERIcKED
for three years or more.
B
& e a1 I s & o
upto four years.
C
RIS ISIGES
for four years or more.
D

IR W 91 S P & forg

Correct Ans : A

Subject : Child Developement

Q.No: 133 Which of the following problems are faced by the Slow Learners?
2478414

i) Cognitive learning problem

i) Social problems

iii) Emotional problems

Choose the correct code

el ity & e o ol @) Pafafea § 9 5 wrersit &1 e S g 82
i) SRS e & aEn

i) QARG THW

iii) HIGATAD FHHEN

e B T

i) and ii) only

Fad i Wi
i), i) and iii)

Fad i, ii AN i

i) and iii) only

Fad i M i

if) and iii) only

Fa i IR i
Correct Ans : B

Subject : Child Developement

Q.No: 134 Unstable economic and family conditions, conflicts and tensions in the family are a few reasons for children being
2478421

i) Slow learner

ii) Underachiever

Choose the correct code:

SRR uiikaTes fRufai ok ufar & 9af ok drd, TRaR & wof ok o o=l & & $o PRU T
i) A R are

i) HH Jualsd gIRId & A 9=

wE FIS T

i) only

Fadi
B ii) only
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&ad ii

Both i) and ii)
C
i MR
Neither i) nor ii)
D

adidRAR
Correct Ans : C

Subject : Child Developement

Q.No: 135 struggle to identify words that appear to be similar, such as, tried and tired, fried and fired etc.
2478426

I 3 910t Ysal B Uga v & e wuy wvar 8, 99, tried SR tired, fried SR fired &1

Children associated with Dyslexia

A

3uue fieR ¥ weifta =

Children associated with Dyscalculia
B

feaagim R § wwfta 7=

Children associated with Dysgraphia
C

et ffeR § Tt 7=

Children associated with Dysphasia
D

faR™or fapR A wefla =

Correct Ans : A

Subject : Child Developement

Q.No: 136 Which of the following is not correct regarding Behaviour Genetics?

2478861

SEER SRS & ey H Fufafea & 3 o1 @ w6l 1ol 82

Behavioral geneticists accept the view that behavior is influenced by both nature and nurture
A

HIER ARG T fER &) R F34 § fF agr v R drwor G- & wuifae Sar @

Behavior Genetics is shaped entirely by environmental forces.
B

AER MR g e I yafarol aewal gR PR A 31

The aim of behavioural genetics is to find good evidence for genetic influence on behavioral differences
C

IR SR H1 ST ARG Pl W HdRie T & g srs waor ior §

Behavioral geneticists use a variety of methods to study cognitive abilities, personality traits, psychiatric disorders, and other conditions.
D

AER ARG YA emarsl, safdad qeo, AFRE RFERT iR o Rufedt 31 siermm & & g i wis! &1 Suam ava 8

Correct Ans : B

Subject : Child Developement

Q.No: 137 Young children can go from riding a big wheel to riding a tricycle with no problem. This is an example of which of the following?

2479175
B1e g= 5 5l 9o & U 95 ufed 1 war I o faufea SRSl a 3t 9ol a@ of Wahd 8| U6 FEfifad § 4 feae 33w 87
Assimilation
A
Y
Accommodation
B
FHA
C Primary Stage
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Tt =0
Secondary Stage

HreAfiE TR

Correct Ans : A

Subject : Child Developement

Q.No: 138 Progressive education promotes which of the following?

2479521
wifarter Rien Praff@a # § 8 somar & @2
Passive engagement of the learner
A
Rigmdf &1 fAfSFg e
Critical Thinking
B
TRy 9
teacher should be at the center of education.
C
e & g & Rierw g1 =T
Learning inside the four walls.
D

TR Gt F Sl Wil
Correct Ans : B

Subject : Child Developement

Q.No: 139 Crystalized intelligence largely depends upon which of the following?

2479819
31 g (Rrvearses $efrsia) @Il ge de Fafied § 9 g w MR s g?
Heredity
A
ek
Training
B
ufiemo
Education
C
TRre
Experience
D
S

Correct Ans : D

Subject : Child Developement

Q.No: 140 If Mental Age is more than the Chronological Age, IQ is more than

2479834
Ife; AFTY® oMy Srergsie s A dRE Fd IS § 34fie wa dedit 31
50
A
50
75
B
75
90
c
90
100
D
100
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Correct Ans : D

Subject : Child Developement

Q.No: 141 is an in-depth study of the individual in terms of her/his psychological attributes, psychological history in the context of her/his psychosocial and physical environn
2479854

faftr 7 forelt wafda & mamie Uil U1 I9% AHRMIRTS 3R Wifee gafaver & deu # 9% THdTie sfagr Sfe o1 Te-ar & sreae fbar o 21

Psychological Test

A
Tidwe Tem
Observation
B
Daror
Case Study
C
Al Sferg
Interview
D
HETPR

Correct Ans : C

Subject : Child Developement

Q.No: 142 which of the following system strengthens the internal environment of the individual by controlling the fall in heart rate, blood pressure, blood sugar, etc.?
2479996

Fofifa ¥ 3 o W & Ffda & siale uRaw & GEd AT & 3R ged TR, a9, 9 B U650 3t 9 3@ F FH A 8R 37 & g Fafa awar e

Sympathetic

A
Ut
Parasympathetic
B
Rl
Both sympathetic and parasympathetic
C
STt R TR St
Neither sympathetic nor parasympathetic
D

T8 orghdt SR 7 € Wigesdt
Correct Ans : A

Subject : Child Developement

Q.No: 143 Researches show that learners belonging to socially and culturally poor backgrounds face problems in academic achievement. This is known as the
2480124

Sy F ga g § 5 Imiie AR SRplad w U § e gguflt ¥ Rielidl &1 el Suaer § guwnell 1 9mE S uSdl 81 3R 59 w9 H 9 S 82

Culturally poor model

A
WiFpias ¥ ¥ WE Alsd
Socially poor model
B
I 9 ¥ TS Aisa
Morally poor model
C
A w0 Qe Afsa
Learners poor model
D

Rrgmdf w—r Atse

Correct Ans : A

Subject : Child Developement

Q.No: 144 According to the reward encourages learning and punishment has a reverse effect. For example, the accomplishment of a task gives pleasure and the learner likes to
2480159 gain.
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& SFTER, RGN, AT B Ticaigd HXam g iR To &1 [Judia uHia usar g1 Iamrul & o, el orf ot Rifg =it Tt § ok el 38 aR-9R &e1 uRig Fxar g1

law of effect

A
pPickagcus
law of readiness
B
qoran fram
law of multiple responses
C
fafdy wfeert &1 Fram
law of attitude
D

siftighy o1 Fram
Correct Ans : A
Subject : Child Developement

Q.No: 145 Which of the following ways will help a teacher to deal with a student who always scores less marks in Science?

2480182
Fofifed & A FH-T ot T Rge & g § 0 o1 3iF Ud $3A aa [endf & @y fAued § mee svm
Complain to his parents
A
IHF A-frar ¥ Repraa we
Understanding the problem area
B
FHE-84 P GG
Using stimulus related teaching
C
WicTeT el e 1 Sudh S
Giving him more questions to practice better
D

TR AN F & AT T 3R 7Y ol

Correct Ans : B

Subject : Child Developement

Q.No: 146 The acronym RIDER is a teaching and learning strategy applied to which type of learner?

2480266
uRkquif 21z RIDER U Riefvr 3R e o1 W0rAAifa 2, S i TR & Riamelf o amy €t &2
Visual Learner
A
e e A
Auditory Learner
B
AR R qren
Kinesthetic learner
Cc
iferet fRrameff
Aural learner
D

uf fRiamdf

Correct Ans : A

Subject : Child Developement

Q.No: 147 Reinforcements like punishments define moral code in which stage of Kohlberg's Moral Development Theory?
2480297

Fiaar & o P Rigia F 6w 0§ <3 o gediew e St 1 ofefia #=ad 82

A Pre-conventional stage
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G-TRERTT R

Conventional stage

B

TIRATT *R

Post-conventional stage
C

SRI-UHRT &R

Late conventional stage
D

AAYd TRERRI &R
Correct Ans : A

Subject : Child Developement

Q.No: 148 A life starting from a tiny cell develops his body, mind and other aspects of one’s personality through a constant stream, comes under the principle of
2480638

TF B HIRFT F Y& 1 Gl Siiae 739 F WK, 7 3R AR & 3g Tegall 3 0@ MR yae & mem 3§ Qe sxar e, 96 & Rigid & dgd o 21
Principle of Uniform Pattern
A
e @ Rigia
Principle of Individuals Differences
B
Jafcas frar o1 Rigfa
Principle of Continuity
C
e &1 Rysfa
Principle of Integration
D

TP FI Rigid
Correct Ans : C

Subject : Child Developement

Q.No: 149 Which among the following are powerful chemical substances secreted by the endocrine glands and carried through the body by the bloodstream?
2482178

E & J B, ofa: v ARl gR wfdd widmcd s uard & o R va gR1 IR A uRae far o g2

Genes
A
ikt
Chromosomes
B
TR
Hormones
(o}
B
DNA
D
SR A

Correct Ans : C

Subject : Child Developement

Q.No: 150 Which among the following is a step in the process of socialization?

2482192
9 | $1-1 QISR U BT 0 WO §?
Learning to play approved social roles
A
SrFAifea o s P dke
Learning to behave in socially approved ways
B

TR T § Eed Tiw! § aER TR g
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C Development of social attitudes

ITE DN BT I

All of the given options

feg v wf fawe

Correct Ans : D
Subject : Child Developement
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